Part-1/¥m .|
GENERAL INTELLIGENCE / =y yfqmen

Directions : In the following Nine questions,
find out the odd word/letters/number/ number

from the given alternatives.
] iy GAREPR

forerey ey s e g A -
1.  Find out the odd word :
ﬁ!ﬂmﬁ‘"{hﬁ: :
(BY Lrane
||

(A) Kingfisher
Ffgeet
(D) Humming bird
T Tt

©) %g:‘ﬂow

2. Find out the odd pair :
few g 1 g -
(A) Pencil-Lead  (B) Crayon-Chart
et - & et -

(P) Brush-Paint

(C) Pen-Ink
¥ - | -

3. Find out the odd word :
Py e P
(A) CINTHOL (B) RIN
feater fe

(C) PEARS = (D) HAMAM
o L]

4. Find out the odd ler~ .
farem 3T it g

(A) PET (B) (,‘Ar /7yRFD(D)TIW

7. Find out the odd number :

o wem w gfg

(A) 368127 (B) 56432]

? 742956 (D) 876321
8. Find out the odd number pair :

e e

BE Fa

9. Find out the odd number pair :
feraw s g g
15-4[ 2t 28{34-439

C) 12-21 » D)57-75 1t
Directions : In the following Three
questions, arrange the following words as per
order in the dictionary.
fovkwr ; Pt 3 weett o, mﬁmﬁnn
fire T o fmi
10. | Smpulder quther

3, Smuggle" > Smudge

A)l 2,3,4 2, 1.4,

4,321 1,4,3,2

l Pmes 2. Plane |

g leum? 4. Plasma 2

. e

132.1.5.3.4 8; 2,5.34,1%
2,4,3,5, 1 by % o My

12, l [ emion'> 2. Intentwine '
terview 4. ene
.l (B) 3,4,1,2
C 4,3,2.1 2 41,3

Directions : In the follwmi'l'wo Questions,
which one set of letters when sequentially
placed at the g aps in the given letter series

shall complete it”
5. ﬁud“émeoddem vt : Frfoiee 2 wei & ot W W
: Yy Wummﬂwmmﬁﬁﬁﬂfm
(A)h(}PA (B) MLKA G B 0 Hm
";)'§'NA (D) HGfA 13. bbackccachsab eac
6. Fmd out the oggéeners § 3 %é 3&: %}m
to13%Y
kg B MQU ’j Byey
Ec)) LORU WZCF fA = xyuy

Directions : In “following Three |
questions, a seriesif “given, with one term
missing. Choose the correct alternative from
the given ones that will complete the series,

frdw : frefefom 3 vt & o arpem fean &,
haﬁmswth&qanamﬁﬁmvﬁ
faree g it aFpER W A | :
15. EZFYXG2 ¥ H

(A) HW W WH (C) GW (D) WG

16. 1, 1§81, 256,625, _2_

(A) 1225 B) 1296 24
© 25 . UBJ4I6d :‘J—

qr o .33
17. 1,5,13,25, 41 61._._

(A)81 (B)77 ()55 (D)9l
18. Find out the incorrect term in the series.

mumwmml
23.107306.18.4.7,50)

(AY7 (B) 10 (C)6 () 30

9. Raghu jogged 2 km southwards, then

: he tumed right and walked 5 km, He
again_ tu right_and. walked “and
jogged 8 km. In which direction was he
seen moving last?

:éazmmﬁmiggmimw
A S km T | € T qE
e 3 8 km 25 oG | 3 A o few
fewm o =ern fraw feam

(A) South /%fw (B) East/ T4

‘C) North /3% (D) West / afvam
20. “.n S years, 35,000 amounts to ¥9,000.

_ In what tume at the same rate will
600 amounts to T9007

25,000 % Tfw 5 @ § 29,000 & A & |
600 F W I W W R T oA
900 Eil?

(A) 6 years/®d  (B) 2 years/ad

(C) Syears@ (D) 3 years/ad

Directions : Ip t§e{following Two questions,
unscramble t to form a meaningful
word. Then fifid out the comrect numerical

sition of the letters.
R« Provedar 2 3 o b o et
fru ol ®t geEEmT | TW Rt mh
wifers fefa e S |

]

2. H
1
(

(
22. N

2
4324256
2535246
code ONE is coded as
23l FIVE is codedas9641 then how
will be NINE coded?

Ifg fat ®i § ONE = 231 fovam smn
&, FIVE ®t 9641 fran s &, ahNINE
& & feran smom

(A) 3613 (B) 3361
(C) 3631 (D) 3316

24. 1fPNLJ: 2468, then QOKL : _7_
g PNL] : 2468, & QOKL : _?_
(A) 3591 (B) 1367
(C) 1376 (D) 1276

25. Select the set of symbols which can be
fitted correctly in the equation.

TR foet w1 wqp g e wede §
o e fara o |
53 8 __4-42=21
@A) X, +, -+  (B) +,X ++
(C) +H X -+ (D) - X+

26. If a means +, b means X, ¢ means +, d
means -, then 20a10b45¢5d12=?
‘ﬁ!aﬂﬂi+kbﬂmxtcﬁﬂi+t
d & 3 -k @ 20a10b45c5d12="17 |
(A) 68 ﬁ(B) 74 (C)88 (P8




Di

ﬁ“mmﬁm|

Pttt
TRy
s

99 @ X
(A) 25 (D/5(/) (C) 75 (D) 100
X x

128,

31.

sclm:s * In the following Four a::esuons.
responses.

missing number from the given

4 vt 3 e et @

vév
AVA

W1 @12 ©6 @3

3 2 7

4 12 3

2 16 8

(A)I0 B)1I (©12 (D)5
813210 {0

7¢ 1239

10,15 2 .

(A)8 (B2 (019 (D)5
Five students are standing one behind

the other in the pla{)ground facing the
instructor, Malini is behind Anjana, but
in front of Gayathri. Meena is in front
. of Shena, but gehind Gayathri. What is
the position of Meena? .
/e T om0 A A U 5L & OO
R e L
df T & am & ) 9 9 E am ke
A T i & | A feafr w i
&Y Second from last / e | gL
7(B) Extreme first / farereper Tt
(C) Second from first / Teeft & gt

(D) Extreme last/ fawrger sifem

32. A watch reads 4:30, If the minute hang

points East; in which direction will the
hour hand point?

T TR A 4:30 T § 1 o e ok o
w SR &, ot 52 B q¥ Farr e o iy
(A) North-East / 3w-q4

(B) North /3w -

(C) South-West / fivr.qfve

(D) South / zféor

. In the question, two statements are

given. You have to answer considering
the statements to be true, even if they
seem to be at variance from commonly
known facts. -

W 4 3% el e € 1 st fig g
T F WG T AR A W e @
fr= et -8, I g d )
Statements / %97 :
I': Plants grow from seeds.

ok} w3 &
I : Seeds are produced by flowers.

W el W I A E
Concjusions/frest ;
(AY Plants grow from flowers. _ .

e et R I E |
(B) Seeds are produced by plants. , -

i i } =T R E
(C) Flowers are produced by plants.

T o A AR E

(D) Flowers and seeds are produced by
plants.

e 3R aftor ot } =T ER

34. In the question, two statements are given

followed by two conclusions I and II. You
have 1o consider the two statements to be
true even if they seem to be at variance
from commonly known facts. You have to
decide which of the given conclusions, if
any, follow from the given statements.

T A 9 T e e o am ) e |
3w 11 Frest o ¥ ) sne wee ke
W | s For wer & e Pt
% ¥ B WA ¥ e w0 A = oo
e 1 W b € AR AR
Statements / 97 ;
I: Creative persons are leamed
o e fag s e ¥ |
II : Some doctors are creative 5.
T SR G i o |
Conclusions/fresd :

1: Some creative persons are leamed
gsm:whmmﬁil

II: Some learned people are doctors.

7o far =t S o € |
ke (B): ther I nor 11
C)I&l (D) Nei nor
& FMldcagi

Directions : In the following Nine questions,

select the related word/letters/nu
the given alternatives.

from

et 9 weett , fg g fereet o @

e e e g :
38, Heart : Cardiologist : : Brain: _7_

¥5a WA faw ;; ofees: 7

A) Nephrologist (B) Ophthalmologist
et  An et

(C) Neurologist (D) Gynaecologist
e ey

‘l'

42,

“0

Car: Garrage : : _?_: Hangar

Ll B Sl fapr=—emrey

‘A) Bus /¥ (BY'Aeroplane / fmm
©) Truck /% (D) Train / temmgt
Govemor : State : ; President ; _?_
TRITA ; T ; e : 2

(A) Organisation (Rvgc:unuy

e
(C) District (D) Constituen

forem

. ~ orae

GFEH :RQPS::LKIM: _7_
{Ag ONMPx  (B) LKNM A
C) IHIG. YUWX
CEIM: DGLQ::FGIO: ?_
iA; GILS }g; GLIS
C) GMIS GMSI
HUK:GFED::NOPQ: ?
éA; EFGH g; MLKJ
C) BCDE FDEC
235 587.:: 435 2.
(A) 788 (B) 789 (C) 988 (D)9%>
17:102::23: 7

(A) 112 (B) 216 (C) 138 (D)413
4:36:: 1 :49
2A)S5  (B)§ W7 D8

44, Four positions or a dice are given

below:
e o iR 9 o Rl St E

L

Find the number on the face i

the face showing 4.
4 W TR A GO & T & W B

T |

(A1 5 (©3 ME -



“.

47.

identty
Been
“ ~

Jocstion P

W Arpfa

WaY &1 TET FEoT Fean k -
Library, Books, Racks
[@HEd, T, 1%

<A>' ® (0o

© @ D00

Which answer figure will complete the
;:’l’:‘lcm in the question figure? = -

H IR AP W I & v

m‘vqniaﬁrh?i
Question Figure:
mes n :gu

Answer Figures:
mmfﬁﬁh _

B

A (B) "« ( :
s _lhem)lswer gure from ‘which
Ewcn in the question figure have
cu
I
T
0

smFHETE |
re:

gl W ww wE e
igu

7

nswer res:

I :

@f Ty D)

_(A)

48. A picce of paper is folded and punched
as shown below in the question figures,
From the given answer figures, indicate
how it will appear when opened.

A W st 7 e seER w
AIEHT B3 A1 WIEH & A AE HH A0
3mpfa s fearg m

Question Figures:

N | NI LY,

(A) (B) (D)
49. If a mirror is placed on the line MN;
then which of the answer figures is the
right image of the given figure?
e o T FMN T W T T, a@ e
T I gl F | W W@ v
Frpia wt W wfafas @

S
(A)’—%—‘ (B)—GD—
sede o

CDACE FNR ROIICH WNRK / 70 %7 ¥ fl mome

50.

A word is represented by only one set
of numbers as given in any one of the
allernatives. The sets of numbers given
in the altematives are represented by
two classes of alphabets as in two
matrices given below. The columns and
rows of Matrix I are numbered from 0
to 4 and that of Matrix II are numbered
from 5 to 9. A letter from these
matrices can be represented first by its
row and next by its column, e.g., ‘M’
can be represented by 01, 10 etc., and
‘A’ can be represented by 56, 65 etc.
Similarly, you have to identify the set

for the word ‘ROD".

T V1= a1 U WEH1-Hq8 FRT S9IaT T
&, s s fawedi § @ faret v o fean
& faetl 4 few o sy A &
ant g e Mo &, e A o ey
SR K| I | F @ i o )
FEORAH LT E 3N AR 1S ?
9, ¥ HEAF § UH_IMW H A T
9 3T A A T ZR T
FEA T2 F forw M #: 01,10
3fE g Z9ITar = Wl & 79 A" w56,
65 Mz Zr Tt o W k| T AE R

FOR VISUALLY HANDICAPPED /
CEREBRAL PALSY CANDIDATES ONLY
L et Fefteam & fine

Directions : In the following Four uestions,

select the missing numberfletters from the
1ven responses.

: Pt 4 et 3 few e Fet 4 @
T 3T T AT
44, AXE, ESLIOM,_?_
(A) PST (B) MKQ
(€) QLM (D) MQI
45. 3, 18,33,53,78
(A6 B9 ©S8 D12
46. 48 96 1440
24 48 720
8 16 240
2 4

(A) 180 (B) 120 (C)60 (D)6
41. 72615142 2
(A)34°(B)3%6  (©31 D)3

48.> Select the serof symbols which'can be
fitted correctly:in lie

R Rt 1 S Pt o
Wt fore fovar o w9 |
-2 4__6__3=17

A -\ch"" B —v+|x1+
IvE WA | faw wer ‘ROD’ & fw W H + X+ + §D;X.+.+.—
& WA § 49. Select the related word from the given
Matriy/3TF -1 Matrix/3wg - 11 f‘;"; e AT — = % g
Sillalale el 1849 Turkey : Lira:: Iran:_?
o 1mw[s]o] [s[o]a[p[r]N e . e g
LiMIWASOL1] |2 ALDIRINIO (A) Dinar/%7R (B) Rial / frawt
2[wls[of1]M] [7]D]R[N]O]A (C) Yen /W (D) Taka / Z#1
J|SIQIIMIWI|B[RINIOJAID] g If FRIEND is coded as 56, then
W|S|[2IN|[O|A|D|R ENEMY is ¢ as .
L % FRIEND ® 56 ®ifea fear ame, &t
(A) 56,66,86  (B) 58, 69,65 ENEMY # % is‘lfsg &6;: m(qg;vss
() 5,667 me.%6.37 .1 WO GIF ©



Directions : In the following Four Questions,
the 1% and the last part of a sentence are
numbered 1 and 6. The rest of the sentence is
split into four parts and named P, Q, R and S.
These four parts are not given in their proper
order. Read the sentence and find out which of
the four combinations is correct. Then find the
correct answer and indicate it in the Answer
Sheet.

79. The pilgrimage to Mecca

giving alms

recognizing Allah as the only God
is one of the five religious duties of
each Muslim

along with praying five times a day
and fasting four weeks once a year.
RQPS (B) SPQR

RSQP (D) SQRP

A5 o9 EOW-

~

A social network is

proyides a clear-way of analyzing

a set of actors and'the

a social structure made up of
dyadic ties between these actors

the structure of whole social entities.
RQSP (B) QSPR

SPRQ (D) PQRS

England's Cath Webb

with her resolution

to make a sponge cake every day
for a year

hit the headlines in January

and give it to a friend, family
member or stranger

just to make them smile.

RQSP (B) RPQS

SRPQ (D) SPRQ

Some people seem to imagine

and that when you have filled it
with anything

and it becomes as empty

that the human mind is like a bottle
you pour it out again

as it was before.

(B) PRSQ

(D) PQRS

N

81.

pUEmO W [AFS VP QNUr- [FFILION-

Directions : In the following Twe Questions,
a sentence has been given in Active/Passive
Voice. Out of the four alternatives suggested,
select the one which best expresses the same
sentence in Passive/Active Voice and mark
your answer in the Answer Sheet.

83. He may have left a message for me.

(A) He might have left a message for
me.

(B) A message might be left for me by
him.

(C) A message may have been left for
me. ‘

(D) A message may have been left for
me by him.

84. Was the question answered ?
(A) Did they answer the question ?
(B) Was the answer to the question
given ?
(C) Were they answering the question ?
(D) Did the question get answered-?

Directions : In the following Two Questions,
a sentence has been given in Direct/Indirect
Speech. Out of the four alternatives suggested,
select the one which best expresses the same
sentence in Indirect/Direct Speech and mark
your answer in the Answer Sheet.

85. The maid confessed to the police that it
was she who had taken the diamond
ring. J
(A) The maid said, “I have stolen the
diamond ring.”

(B) The maid said, “It is I who took the
diamond ring."”

(C) The police were told, “I have taken
the diamond ring.” )

(D) The maid told the police, “It is I
who have taken the diamond ring.”

86. My father said to me, “Go now".

(A) My father ordered me to go later.
(B) My father ordered me to go now.
(C) My father ordered me to go then.
(D) My father ordered to go now.

% : In the following T i
given below the following pnsgsag:nso?:::;oa‘::
words have been left out. Read the passape
carefully and choose the correct answer %o
each question out of the four alternatives and
fill in the blanks by blackening the appropriate
circle [@] in the Answer Sheet.

Did the Eanh always (1) as it does today ?
No, (ii) its origin about 4.8 billion years ago
our planet has (jii) a lot of changes. The unuai
ball of fire (iv) down and the surface slowly
m splld. Today we (vi) that the Earth's crust
is d}vidcd (vii) several plates, {viil) move
continuously. Entire continents (Ix) been
displaced and mountains, islands (x) new seas
have been formed or have disappeared.

87. i)
(A) looked (B) look
(C) looking (D) looks
88. (i)
(A) from (B) before
(C) since (D) after
TS| BAR
8o (B)
(C) undergoes (D) underwent
90. (iv)
(A) cools (B) cooled
(C) cooling (D) cool
91. (v)
(A) has turmmed (B) tuming
(C) tum (D) umed
92. (vi)
(A) know (B) have known
(C) had known (D) knew
93. (vil) .
(A) to (B) into
(C) on (D) in
94, (vill)
(A) whom (B) which
(C) who _(D) whose
95. (ix) il L
(A) has (B) have
(C) had (D) are
96. (x)
(A) or (B) but
(C) and (D) so

Directions : In the following Four Questions,
Some parts of the sentences have errors and
Some are correct. Find out which part of a
sentence has an error and blacken the circle
[®) corresponding to the appropriate correct
option. If a sentence is free from error, blacken

the circle [®] corresponding to “No Error” in
the Answer Sheet.

97.

98,

99.

The flower and the vine are growing
well,

(A) The flower

(B) and the vine

(C) are growing well.

(D) No error

I jumped with the opportunity of going
to Kashmir.

(A)-1 jumped

(B) with the opportunity

(C) of going to Kashmir.

(D) No error

Forty minutes later James return to his
family bearing an important piece of
news.

(A) Forty minutes later

(B) James retumn to his family

(C) bearing an important piece of news.
(D) No error

100. Tutankhamun's death mask is stll

untarnished after thirty four centuries. 3
(A) Tutankhamun's death mask
"(B) is still untamished
(C) -after thirty four centuries.
(D) No error



-

Part - III / vy
QUANTITATIVE APTITUDE / reares stfirsfr

101. After deducting a commission of 5%, a
T.V. set costs ¥ 9,595. Its marked price 1s
5% 1 FHYE T & AR, 1% A,
W H1 474 19,595 | 30 st T &
(A) % 10,000 (B) 10,074.75
(©) 210,100 (D) T 12,000

102. A discount series of 10%, 20% and
40% is equal to a single discount of
10%, 20% ¥ 40% %t gz e e
UF g2 & T b
(A) 50 % (B) 56.8 %
(2 60 % (D) 60.28 %

103. A bag contains coins of ¥ 1, 50 paise
and 25 paise in the ratio 2: 3 ; 5. If the
total value of these coins is ¥ 228, then the
number of 50 paise coins in that bag was
T & A 20, 50 T 3l 25 W ¥ faw
2:3: 5% FUm W& 2% = few
T A28 E, A ITW A 00 &
fe e @

(A)96 (By 112 (C) 124 (D) 144

104. Ram, Rahim and Robent started a
partnership business investing ¥ 30,000,
¥ 50,000 and T 40,000 respectively. If
they made an annual profit of ¥ 18,504,
then the share of Rahim is
W, ®w v a3 FA 30,000,
250,000 T 240,000 F1 FrEw & &
e wwER amy feam o 3%
218,504 1 afaes =7 gam, At i W
o fiew &
(A) 7,710
(C) 27,010

(B) ¥7.170
(D) 27510

105. The average marks of 14 students was
71. It was later found that the marks of
one of the students has been wrongly
entered as 42 instead of 56 and of
another as 74 instead of 32. What is the
correct average ?

14 feenfadt & sivgm siw 71 &1 an & o
T T o e % s et @
56 & ™M w 42 for fear mar AR v
= faumdt & oiF # 32 & WA W 74
e foam a1 et afvm = b2

(A)67 (B)68 (C)69 (D)71

106. Average age of seven persons in a
group is 30 years, the average age of
five persons of this group is 31 years,
What is the average age of the other
two persons in the group ?

TF 7Y § § Fi sl amg 30 7

W U e W iy

31 & Fiu & I < s ) st

g fepert

(A) 55 years/ad  (B) 26 years/ad

(C) 15 years/ad - (D) None of these
. K | wif

107. A vendor purchased 40 dozen bananas
for ¥ 250. Out of these 30 bananas were
rotten and could not be sold. At what rate
per dozen should he sell the remaining
bananas to make a profit of 20%?

UF famr 3 40 T W 2250 F @i
T B 30 ¥ T qU & ol T dw
M TE | T N A A 9 o
T 31 AR e 20% = e e
(A)?10(B)%8 (C)R12(D)%6

108.

109.

110.

111.

A man spends his three months income in
four months time. If his monthly income
is ¥ 1,000, then his annual savings is_

UF S AT AR AR F AN W AR
e | @ e &)1 3T 39! A I
21,000 &, 7 Iww affes a<q &

(A) ¥ 3,000 (B) 4,000
(C) 16,000 (D) 79,000

In 2 kg mixture of copper and
aluminium, 30% is copper. How much
aluminium powder should be added to
the mixture so that the proportion of
;gfper becomes 20% ?

A wefafm & 2 fEm foao
30% drar &1 ¥ firsgor *f feern
It 3R fosman s wfew ot d@
FFI 20% 7 Y
(A) 800 gmsm™  (B) 900 gms/m
(C) 1000 gms/M™ (D) 1200 gms/Am™

One-fifth of half of a number is 20.
Then 20% of that number is '

ft sEm & 3my v orear e 20 & A
30 T w1.20% ¥

(A)20 (B)40 (C)60 (D)80

A man rows 1o a place 60 km distant and
back in 13 hour 30 minutes. He finds that
he can row 5 km with the stream in the
same tume as he can row 4 km against the
stream. Find the rate of the stream.

T s 60 fH . # g 7% T weme
e & #1392 30 e F amw e k)
mm%fwmmﬂ{mmﬁmi
s fEot, 1 wwan & e wwa o aF o
ware | 4 f&w, W & yaw &
™ &

(A) 1 km/hr (B) Yokmhr
| feraft, wfey g Vs o, ey
(C) 10kmhr (D) 8 kmvhr

0fed sivd 8 fedt s o

112,

113.

A man rows 12 km in § hours against
the stream, the speed of current being
4 kmph. What time will be taken by
him to row 15 km with the stream ?
UF Al WA v 8 A F 12 S
WS 9 ° 7w ¥ frwd wn w o
4 fEm. wfa 921 &1 3% s § |
15 foa. % g0 fet g & @ wom
(A) IhourZS%min.

.
| 91 25 — fe
13
(B) 1 hour 26 % min.
uiazslﬁnz
13
(C) 1 hour ZA%min.
l!ia24lﬁﬂz
13
(D) lhour27.113.min.

ltia27l—73ﬁnz

Arvind deposited a sum of money with a
bank on 1* January, 2012 at 8% simple
interest per annum. He received an
amount ¥ 3,144 on 7" August, 2012. The
money he deposited with the bank was

a3 T v | wwEd, 2012 B dw
¥ 8% Aftw FuRw & ® W F R
®, T 23,144 T R 7 3T, 2012
® &% F Wt g1 3w e e
% fraw =i 4
(A) 3,100
(C) 2,500

(B) 3,080
(D) 3,000




114. The time required for a sum of money
to amount to four times itself at 15%
simple interest p.a. will be

T NI 15% vt & wmamor sqr
Foret o &< ot e

(A) 10yearsd  (B) 39 years/ad
© 15 yearst (D) 20 years/ad

115, @e radii of a sphere and a right
cu]cular cylinder are 3 cm each, If their
volumes are equal, then curve surfac
area of the cylinder is )

(Assume n=%

T T SR W e e )
398 41 R 5w ST o b
3 T 9 s foern b

mﬁ xgg
B
(A) 65%cm2" ®) 72%0!!13

©) '74;cm2 (D) 75 %cmz

116. Base of a prism of height 10 cm is
Square. Total surface area of the prism
is 192 sq. cm. The volume of the prism is
10 337, Sarf amet firew & s anfer

1 ow W g g w192 ot
| ¥ 1 frow W s b

(A) 640 cm® (B) 90 cm’
(C) 160 cm’ (D) 120 cm®

117. A low land, 48 m lon

broad is raised 10 6.5 dmgF::'“:hlil fanlg

1s removed from a cuboidal hole, 27 m
lonlﬁ‘and 18.2 m broad, dug by the side
of the land. The depth of lheﬁio will be
T 48 3. wlt e 31,5 o, ek ey oty
# 6.5 dm. ¥ foea e &1 v fog
gt %1 ofw & e & @R Mo 27 o, vy
AR 18.2 o1, % v faar } Frewen
e &1 faa 1 e fepert wito
(A)22m(B)2.5m(C) 2m (D)3 m

118. If the angles of a triangle are in the
ratio 2 : 3 : 5, then the measure of the
least angle of the triangle is
n&wfmtmz 1315 % e §

¥, Fr & st apvor o o &
(A) 18° (B) 36° (C) 90° (D)20°

119. A right prism has triangular base. If ‘v’
be the number of vertices, ‘e’ be the
number of edges and 'f" be the number
of faces of the prism. The value of
v+e-f

3
T w e w7 e amer ko oy
fiom & vt % wom, o' w # Ho

m'rmﬁmm%ﬁw

Lich ¢
(A)2 @B)S5

€10 D)4

|
120. If a+:=—l. then the value of
(l-a+az)(l+a-a2)is

'ﬂfta+%=-l kA

(1-a+a’)1+a-a?) wramt

Al B4 ©0 mM-4

121. If x = 2, y.= 1 and z = -3, then
2 +y* +2* = 3xyzis equal to
ﬂﬁxa‘.’.y=l3ﬂ1'z=—3t.?ﬂ
24yt +2 -y fewE T b
(A)6 (B0 (©2 D)8

i1 Thesamof — —and -
x+y  x-y

wamk

is
1 s 1
xX+y x-y

(A) zzy 3 (B) xzz_xyz

2x -2y
2y

l).).lfx:S.ﬂ\enll_)cvnlucofthe

i 1.2+ X is
expression x . i

e x= S, Ao o - 24— WAk
X

24 576 .. 625 24
W 3 B ¢ © F 0 3

124. (£ +y°)(x - y®)is equal to
(2 +yo) - y®) ot wraT & 2
@A) 2-y* @B £L+y?
© £-y?  © L+y*

125. ABC is a triangle in which ZA = 90°.
Let P be any point on side AC. If
BC=10cm, AC=8cmand BP=9cm,
then AP =
ABC t® g & forsd ZA = 90° &, 7
d f& AC g w P Wi fag ki ofx
BC=10cm, AC=8cm 3dTBP=9cm

taAP=
(A) 2J/Scm (B) 3W5cm
(€) 2V3cm (D) 33cm

126. ABCD is a cyclic quadrilateral, AB is
the diameter of the circle. If ZACD = 50°,
the measure of ZBAD is
ABCD g aq ¥, AB 37 %1 = K
g LACD = 50° £, a1 ZBAD #1 5
(A) 50° (B) 40° (C) 140°(D) 130°

127. The length of two parallel chords of a
circle of radius 5 cm are 6 cm and 8 cm
in the same side of the centre. The
distance between themis
5 cm T a6t U 3w H &7 AT AR
# K ®% & 99 9vd § 6 cm 3R
ScmtiTH ARk
(A) 3cm(B) 1.5cm(C) Iem (D) 2cm

128. AB is a diameter of a circle having
centre at O. P is a point on the
circumference of the circle. If
Z£POA = 120°, then measure of ZPBO is
AB@%WW&M“‘O'?IP
gu W w s fag &) A LPOA =
120°k, at LPBO® A &

(A) 75° (B) 70° (C) 68° (D) 60°

129. BE, CF are the two medians of AABC

and G is their point of intersection. EF
cuts AG at O. Ratio of AO : OG is

ual
Z‘kac‘%amaa@hﬁmm

wfere w1 fag &1 EF O W AG ®
¥1 s AO : OG fererds wree b2
(AY1:2(B)2:3 (©)3:1(D)1:3



130.

131.

132.

133.

134,

If 2sin?8-3sin0+1=0, 6 being positive
acute angle, then the values of 0 are
4% 2sin’0-3sin0+1=0,0 W =

Fok, AOFIRE

(A) 30°,90° (B) 60°,45°
(C) 45°, 50° (D) 60°, 55°
The value of

sec* A(1-sin* A)-2tan? A is
sec‘A(l—sin‘A)-ZtanzAﬁTTﬂ-‘it
A1 B0 ©2 Mn%
If 5 tan A =4, then the value of
SsinA—3cosAis !

sinA +2cosA

ﬂf:‘StanA=4i‘,ﬁ‘T 5smA-—3cosAﬂ

sinA +2cosA
mmE

(A) 5/6 (B)5/14 (C)7/9 (D)9/14
The value of (cos0° +sin45° +sin30°)
(sin90° — cos45° +cos60°)is

(cos0° +sin45° +5in30°)

(sin90° —cos45° +cos60°) F AR ¥
(A) 7/4 (B)3/4 (C)5/4 (D)3/2

Ifx=asecO+btanBandy=atan 6 +

b sec 8 (a # b), then the value of
2_2
xz y2 is

a“-b

I x=asecO+btan B ATy =atan 0 +

bsece(atb)t.#f

2 .2
xz'yzmqﬁt
a“-b

@0 ®1 (©°2 (D)%

135, The weight of a container completely
filled with water is 225 kg The
container weighs 0.77 kg when its 0.2
part is filled with water. The weight (in
kg) of the container when 0.4 part of it is

136.

137.

filled with water, is

e e § W TE U W a9
2.25 fEm, &1 um & 0.2 woT F 9W W
B T 38 g9 0.77 feam. &1 T ¥ 0.4
W ¥ I W ¥R W I a9 e

. s

(A) 0.40 (B) 0.74 (C) 1.14 (D) 1.88
Simplify

T/ &

4/0.0625 +3/0.008 ++/0.09 -1

Y62.5332
(A)% B)24 (©) 125D)0

Which one of the following is true ?
frfefas & & @9 @ w2

1.3 3

‘(A) -7—>—>—>—

24 3 8 12

0.5
2 3 (16)"
0.5<=<=<|—
®) <3<4<(25)
1 2.3 .
Q) =558
()2>3> >
(D)0>l-

4
5
3
17 5

4
¥
7

138.

l”.

140.

141.

Divide 27 into two parts so that 5 times
the first and 11 times the second
together equals to 195. Then ratio of
the first and second parts is .
27 %t =1 WM 7 ¥ e i w7
TR I S A ST g ;|

T e 195 % TR W, A aeet
TR W 3 &

(A) 17:10 (B) 3:2

(C) 5:4 D) 2:7

The LCM of two numbers is 12 times
their HCF. The sum of the HCF and
LCM is 403. If one of the number is 93,
then the other is

T W FT AR FHANEE I e
TS w12 T k1 T wE
3 T wwER W am 403 ke
I | U w93 k, @ g wew w=n kb
(A) 124 (B) 120 (C) 116 (D) 112
A can do half of a piece of work in
| day, whereas B can do full. B can do
half the work as C in 1.day. The ratio of
their efficiencies of work 1s

A st .= o e 7m0 & e K,
e B U o7 # 3 QT F T A qw
¥ C % s e & w1 71 B s fo & ama
T K| H T T S b
(A) 1:2:4 (B) 2:1:4

(C) 2:4:1 (D) 4:2:1

15 men can finish a work in 20 days,

however it takes 24 women to finish it
in 20 days. If 10 men and 8 women

Directions : Read it carefully and answer
Five questions.

Total cost of production of a firm is ¥ 250

lakh. Following pie-chart

shows the

percentage of costs of production in different
purposes.
Letters A, B, C, D represent the following :

A=
B=
C=
D=

Cost of raw materials
Cost of packing materials
Cost of labour
Maintenance cost

m;wmwmmmsmﬂ
IWE

% GH & I W He " 1250 T K
frefefum o o o fafe=r warml § I
T & wervreen zare &

3T A, B, C, D frefafan wt frefon v £ .

A=
B=
C=
D=

142,

wed TTH H AT
Y w5t S
A9 F

T FT

S
(o)

Cost of packing materials and raw

lu&dennhc( all? complete the work, then materials together amounts 10
wi (4
w8 15 o 20 e g m%ﬁ?“*“"f“m
¥, mafs 39 0 1 24 20 fe=i o R

wet K1 10 7o 3iT 8 wfeend 3w wd (A) T175lakh  (B) ¥ 162.5 lakh
ghﬁﬁﬁv{nﬁﬁ? 7175w 2162.5 vr@
(A) 10daysf&@  (B) 20 daysf&a (C) T875lakh (D) ¥ 1375 lakh
(C) 15days&@ (D) 30 days/A 187.5 7 2137.5 o

SPACE FOR ROUGH WORK / 7% %rd % firg varr



143.

144,

145.

146.

If the cost of production doubles in a
period of 3 years, then lhc
corresponding maintenance cost In
rupees will be

ot 3 et & A A g A e g
A T S A e T E?
(A) 12.5 lakh/em@ (B) 125 lakh/eT@
(C) 25 lakhver@ (D) 75 lakh/eT@

If the production increases to five times
of the present cost, then the percentage
increase of the cost is

a5 IR aAHE A & 9 A A

R &, A T ghe & sl &
(A) 500 % (B) 400 %
(C) 300 % (D) 50 %

If the packing cost increases by 2%,
then the new packing cost will be

3, & T 2% @ et &, A 7§ d
et et giit?

(A) R1.25lakh/er@  (B) ¥5 lakh/ema
(C) 62.5lakh/em@ (D) 163.75 lakh/eTr@

If the total maintenance cost increases
from T12.5 lakh to ¥50 lakh, then the
percentage increase of the maintenance
cost is

o1 SO AR 21 2.5 TR R a@H
350 vr@ g St & @ e @ A
e = wferereren &

(A) 25%
(C) 300 %

(B) 5%
(D) 400 %

Direction : Study the following histogram

and answer the Four questions.
fdw . Frefefaa I‘r«;nw H AT B AR
fw T 4 WAl @ I

0 10 2030 40 S0 60 70 80 90 100
Marks Obtained

—_—

T 5% )
147. The range of marks obtained by
maximum no. of students is

e farenfoat g W s
iR frasaa

(A) 30 - 40 ) 50 - 60
(C) 80.-'90 ) 60° =70

148.  The no. of students securing marks in
the range 90 - 100is_
90 - 100 ¥ 19 3% WA A A
ferenerai =it s &
(A)40 (B)30 (C)20 (D)10
149. The total no. of students on whom this
survey was made is

39 faenfeat #t g1 v fertt & B w
TF e faar
(A) 190 (B) 200 (C) 210 (D) 220

150. The percentage of students securing
marks less than 50 is

50 ® F9 3% WA FE e Eotaar 52
wfereren &
5 4
(A) 277% (B) 287%
13 13
(©) 235% (D) 475%

SPACE FOR ROUGH WORK / 7% ®d % firg var

For Visually Handjicapped/Cerebral Palsy

Candidates only
Faw e Judtaant & foe
142. If (x+y):fxy =4:1, then the value of
x:yis

“&(X+y):,/x_y=4:l @y ymumk
(A) (2+J§):(2—J3)
®) (1+43):(1-+3)
© [+43):6-43)
®) (4++3):(4-43)

143. If 25x* -20x+1 becomes a perfect
square, then the value of t is
A 25x% —20x +t Ut A 7= N &, Ay
wAHE
(A) 0

(B) 1 ©2 (D4

144, lfaz=n+l.lhcnlhcvalueofal—2a is

Axa’=a+l & Aa’-20 FrEmk
A) 1 (BYO ©) -1 (D)2
145. If a, b and c¢ are real and rational

numbers and b’ —-4ac=0,then the

types of the roots of uz+hx:rc.=0 is

% a, b AR ¢ Al 2K ofcdy deant &
3R b*-dac=0 & & ax® +br+c=0
¥ 0 % W &

(A) Real & equal
m&ﬁ:}tm

(B) Real & unequal
AT AT AT
(C) Irrational
Iy

(D) Complex
e

146.

147.

148.

149,

150.

The distance bet t i
(=5.0)and (7,0 iswm~ e
vﬁ;a)i(—s.m Q.0)FdaFIgE

(A) 12 unit (B) 7 units

(©) 5unilsl'<ﬂg"£:2 (D) 13 un;t/s}ﬁqﬁzz
If x sin @ tan &+ y cos & cot o = | and
xsina - y cos o =0, then the value of
f+ﬁs;

I xsinotana+ycosacota=1 3
xsina-ycosa=0,A2+y’ WAk

1 3
~ (B)2 =
(A) 2 (B) )1 (D) 3

The angle of elevation of a ladder
leaning against a wall is 60° and the
foot of the ladder is 4.6 m away from
the wall. The length of the ladder is

UF a9 feel el |t # 3= o
60° & 3 Wigt = fraem o S @
4.6 m 0 9 &1 Wigt F oeard &
(A)23m(B)4.6m(C)7.8m(D)9.2 m

Length of each edge of-a regular
tetrahedron.is 6 cm. volume of the
tetrahedron is

THEOTS & A% HI § T@E 6 cm.

¥ | SoReE w1 e &
(A) 18¥3cm®  (B) 18¥2cm?

(©) 36v2cm® (D) 36y3cm’

Three circles having same radius with
centres at A, B and C touch externally
to each other. Then ABC form a
triangle which is

A = O @9 g, e #% A, B
3l C &, v gat # amr w9 § W @

¥Iat ABC R & e P

(A) right-angled (B) equilateral
HOHIvT g
(C) isosceles (D) scalene

SPACE FOR ROUGH WORK / 7% ®Td % forg wam



Part - IV /W — IV
GENERAL AWARENESS / wra=y =il

151. Who was the first Deputy Prime

Minister of India?
RA & W90 I9-RYEEE H 47
(A) Jawaharlal Nehru
TATRTATS A&
(B) Sardar Vallabhbhai Patel
TIER TeoTHHTE G2
€) Maulana Abul Kalam Azad
YA HH T
(D) Gulzarilal Nanda
TS 5T

X52. When did India become a fully

Sovereign Democratic Republic?

AR QU7 EIY S T %9 a0

(A) 26™ November,1949 / 26 7=, 1949
(B) 26" November, 1930 / 26 Fa=r, 1930
) 26" January, 1949 / 26 &, 1949
(D) 26" November, 1951 / 26 Faw=R, 1951

153, According to which Article, State

Legislative Council=cam be created or
gbwgus;;gr * T for ey
_AER,
AT q1 WA H AT Tl &7
(A) Article 167 / 5IT=% 167
(B) Article 168 / =% 168
(C) Article 169 / 3% 169
@¥D) Article 170 / F{=% 170

154. The last dynasty of the Delhi Sultanate

was the . .
et e wr 3ifaw = @ 9

(A) Slave dynasty (BY Syed dynasty
a9 ¥z 50

(C) Lodi dynasty (D) Khilji dynasty
Y Fr Tt =

155. The ‘Great Bath' was found at
e

EEMR (W 99 HEi faer ar
(A) Harappa (B) Mohenjodaro
L) HiEeEet
‘2§ Lothal (D) Chanhudaro
e &St

ISp.| Which country eamed the title “The
{ Queen of Seas"?
R 2w A wgRt W TEC w30y w

w7
" (X3 Germany / STHI(B) France / %i®
(C) Italy / it (D) Britain / f&es

160. A

157. m whom did Allauddin Kh'i,lji entrust
mission to conquer ?
A FAIA faerit
% f& i
(A) Ulugha Khan (B) Malik Kafur
ofes

ot T A
: Khizra Khan (D) Shaji Malik
- it e -

158. Who was the first Delhi Sultan to break
the power of the Turkish nobles known
as the ‘Chahalgani’ or the ‘Forty'?
TEATEr @ HRT % w9 ° e ot
AT F wifET A T AR aen gy et
[ HIF 9
(A) Qutb-ud-din Aibak / FIIL Ca
(B) Iltutmish/

(C) Raziya / Temr
(D) Balban / ¥&&@+

159. The Earth is nearest to the Sun on

forg femr gt i & vt e wielt &
“(A) 3™ Janvary /3

‘B) 4™ July 74 SfFmE

©) 21" March /21 =rd

\D) 23™ September / 23 fadax
A sufficiently large scale map
indicating the detailed surface features
of an area including relief is called
IR EATE AEw HEt Sy W ofAwga
W favmast ® oz o e s
T amfa it =1 =t 7

(AVRelief map
Excifoiniie

(B) Chorographical
" ﬁ’iﬂ'ﬂiﬁ?;qugﬁ -
(€) To ical

: %smphlca map
(D) ‘}‘\‘/f:‘ll mag.

161. The lowest temperature is recorded by
P

AT FRT 791 T X7
(A) Mercurial thermometer
URE-gHiHeT
(B) Alcohol thermometer
TeHIe qaiHey

{C) Maximum reading thermometer
m S v
Minimum reading thermomet
e v e —

162. The most stable measure of central

tendency is
=1 waitue feax w9 = &
Mean /% (B) Mode / Tge1®

(C) Median /¥mg® (D) Range / 90#H
163. jOf the following Rapeseed belongs to
e e 7 b T 1 £
(A) Mustard / 781 (B) Goffee / Fi!
(C) Pepper / ®itas (Df Linseed / &t
164. Centre for Ecological Sciences is
situated at

fearam 3 =t feam &2
(A) Karnal B) Allahabad .

(C) New Delhi (D) Bengaluru
7% feeeht e

165. The first National Park of India is

WRA F A9H T 34 511 91 8

(A) Dachigam Wild Life Sanctuary
sferm &= S| sERTg

(B) Corbett National Park
HEE 9 U

(C) Simlipal National Park
fau=aeT A9 U

wa Hazaribagh National Park

CARENT A T

166. Penicillin was discovered by
Affafem =t @@= fFax = 4

(A) lan Fleming / ¥ AT i
‘B) Alexander Fleming / 3TeTaiSt Ao
'C) Edward Jenner / T3a& FT
‘D7 Louis Pasteur / F[§ TaX )
167. Vitamin which provides immunity
= faafe= T e &7
(A)A JBE (OK (D)C
168. Respiration is controlled by
part of brain.
g &1 A e & & | e
aen &7
(A) Olfactory Lobes / wmor uifer
(B) Medulla Oblongata / 9geT Jifeenter
(G)\ Hypothalamus / 3. ¥aa®
(D)*Cerebellum /
169. In marine whales, the limbs are
modified as |
R e F 3 e w9 F it o &
(A) Flappers / %Y (B) Grippers / fraw
(C) Slippers/ (\9YFlippers / o

170. %ﬁismgf an ideal volmiﬁeé'v is

(A) infinite /37 (B) zero /¥
(C) high/3=a low / =t

171. Which of the following works on the
basis of “{conservation of linear

momemun? X
e 3 @ ¥ Es o F 1 &
FTUR 7T FH T &2 =
(A) Jet/S2—<  (B) Acroplane / fmm
(C) Rocket/ Tz (DyHelicopter / ¥H=T
172. A defect of vision in which the points
in one g_lane of an object appear in
focus while those in another are
out of focus is called
Iq 3 3 H w7 wed & ot fewt e
¥ uF A # fag Fx | e 33 & v
Ta e | fag & e e W 6
(A) Myopia/
(B) Hypermetropia/ Fegfe
£€) Astigmatism /
(D)..Distortion /
o 1 i ver
e B R
raised is
T A e W W 3 ugt Tt el
¥, = T 3w = 3 g e i
(A) Red /& Violet/ 3t N
(C) Blue /e (D) Green /&0
174. An electronic Faxh that sends signals
of com

from onsj_ part ;:‘puler 10 anﬁol.her is

HEET T&H W T

A T ¥ wH T TR

S}r),bogic %i;le (B) Modem €

(C) Bus (D) Serial Port
wifger e

T9
175. ICMP is used for
ICMP 1 wam fwafeag fwar s &7
(A) Error reporting / T
(B) Addressing léﬁm
(C) Forwarding /’
Multicasting /
176. Mass number is the Sul;l? of

TEEE HEAT
) Elecl_ror;snthnd rotons

(B) Protons and neutrons
wrem ST

(C) Electrons and neutrons
s

(D) g:lg E“"Of?é



177. There are only two metals that are non-
silver in colour, they are

3w < 5 gt £ o R 1 8 0
(A) Nickel & Zinc
et ik e

(B) Copper & Gold
it 3T |

FHR SAfe™

(D) Sodium & Magnesium
wifsgn 3k "Fi%f!m

178. Breath analysers used by police to test
grupke;_l drivers works on the chemical
asis o

YA G TE S ATt SRl @ A
HH & AT {ferw a0 wgE @ v
for et SR @ w7
(A) Acid-base reactions

- At
(B) Precipitation reactions

SR hafwar
(C) Complexation reactions

(C) Palladium & Platinum
ifeam

(D) Redox reactions

179. The hard enamel layer of teeth is
=7t F HAT TS T T A 82
(R) Calcium phosphate
Ficaaq wrehe

(B) Calcium oxide
Hicaqa AEERS

(C) Calcium hydroxy apatite
o gt TR

(D) Calcium hydroxide
Ffraan TEgaEs

180. The two components of an eco-system are
affefm A FAessadh

(A) Plants and animals

' Biotic and abiotic
e 3l seifas
(C) Plants and light
ot i W
(D) Weeds and micro-organisms
AR AR gERE

181. Which of the lfogoy?ving species is
locally extinct in India
hnfaﬁn q F w9 @yt 9Re F
—irg W ey @ T &7
(A lS_il?eE'an Crarllc/ ’ Hﬂg
The s vulture !gt
White Bellied Herog / e A =
w) Forest Owlet/ IPED »
182. Which gas is responsible for dg:%letion of
ozone layer around earth which protect

us from harmful ultra-violet rays?
TERE QAT {6 § T aA At

g7 & I/t AT tﬂqu FHIA A F 6w
W’V i i &
) Chlorofluro carbons / m Lo

(B) Nitrogen /

(C) Oxygen/

(D) Nitrogen oxide / ATEZIT HaEEE
183. Which of the following is the best

indicator of SO, pollution?

Fretferfam & / @1 SO, WguwT + FaTeH

g b
(A)'B yte (B) Preridophyte
AfEiwge

Lichen (D) Algae
a;tin Y

184. Which scientist wrote a book called “A
S N o e e v o
. { TN A
& 7 ferai
(A) Stephen Hawking / &% ¥iflT
(B) Pasteur / =T
' (@Y J.L. Baird / .U, ¥qE
(D) Edward Jenner / TS8€ "% =

185. Which of the following is observed as
Sports Day every year?
frefefae 4 | &= wftred @ fRaw
AT en &7
(A) 22™ April / 22 3T
(B) 26" July / 26 S

22"" August / 29 TR
(D) 2" October /2 aRET

l... The World Environment Day- is

celebrated on
frva ratarror ey R et wmar omen 7
(A) June 5 (B) April 7
5 7 3w

(D) June 16

(C) August6
6 AT 16 91

187. Mercury thermometer was invented by
IRT !:gﬂzt 1 FfaeRT ferar am

(A) Galileo “~*” Fahrenheit
Heiiferat HRAERE

(C) Newton (D) Priestley
= st

188. Amjad Ali Khan is associated with
which of the following musical

instruments?
IR At @F Frefafaa § |/ few @i
T | dEg
(A) Violin /amafe (B) Sitar / faamw
Barod /AT (D) Veena /dom
189. Where is Brabourne Stadium located?
A Rfeay wet fea
(A) Cuttack (B) Mumbai
»H
Jamshedpur (D) Kolkata
ARG HicTeHTam
190. Who is the founder of Homeopathy?
e & e w2 i
(A) Lainnec (B) Wakesman
T S
(C) Hahnemann (D) Doma
AN e %

191. When is Human Rights Day

celebrated?

HHETYSR faw & 5= s &

(A) 9" Dec. (B) 10" Dec.
9 fewaT 10 =T

(C) 10" Oct. (D) 12 Dec.
10 3 RE 12

92. - Television was invented b
Tttt &1 antaeer feat ¥m1 an

(A) Louis Braille / 7§ 31

(B) J.L. Baird / AUH. Fa¥

(C) R.A. Millikan / SIR.T. fereeiie
“~* Lawrence /

193 India’s 1* Hi-Speed Rural Broadband
Network has been commissioned in a
district of
URE W g FE-ES uHT #isds Aead
e 1w & foret F 30 o mam
(A) Andhra Pradesh / 3w w&¥r
(B) Telangana/

(C) Kerala /3
£D) Kamataka /

194. Which of the following regulat
workinﬁg of share marketgin Irglgia?es e
a1 W AR ® SEAOTER w7
A Fefrfar S ¥ s s
(A) MRTP Act/ To.IAR AW, sfutay
(B) FERA /%00
(C) BIFR /1. 3M§.0%. (R,

(D) SEBI / @&t

195. Aggregate Monetary Resources is
T TENF w4 &7
(A) M1 (B)M2 (C)M3 (D)M4

196. Reserve Bank of India was nationalised in
el fod fw G F3 9n
(A) 1945 (B) 1947 (_C) 48 (D) 1949

197. What is Hawala?

& =

(A) Full details of a subject
ot fam =1 ot fammor

(B) Illegal transactions of foreign exchange
gt ur = Sy wRER

(C) Tlegal trading of shares
Wa 1 A9 UK

(C) Tax evasion
wEET

198. Who was the first to use the term ‘“Micro”
and “Macro” in Economics in 1933?
1933 ¥ ardvre A ‘T S dmr e

=1 W wewew e e am

(A) James Tobin Ragnar Frisch
g Afe= AR

(C) Gurly (D) 1. Fischer
et ant. e

199. Which is the final Appellate Court of
Justice?
siferg_ardieira =ararerg w5 o &

[B) High Court / 3= /™A
(C) Civil Court/ |
(D) District Court / Foren =g

200. The system in which the few govemn
many is

wn as
fFg 7 F Fo @M AUS R e
w3 £

(A) “Monarchy (B) Oligarchy
TR ) Fqaa

(C) Plutocracy (D) Autocrac
et . Yy



